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QUESTION 1

What are two benefits of using VLANs? (Choose two.) 

A. limits the devices that can join the network 

B. segments the broadcast domain extends the broadcast domain 

C. allows all network devices to be accessible from any host on the network 

D. enables the logical grouping of devices that belong to different Layer 2 devices 

E. extends the broadcast domain 

Correct Answer: BD 

 

QUESTION 2

Refer to the exhibit. 
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Which command needs to be placed on the box where the code is missing to output the value of page_jd in the Python
3.7 script? 

A. print(items.get(\\'items\\')[0].get(\\'page_id\\')) 

B. print(items.get(\\'items\\').get(\\'page_id\\')) 

200-901 PDF Dumps | 200-901 Practice Test | 200-901 Braindumps                                3 / 7

https://www.geekcert.com/200-901.html
https://www.geekcert.com/200-901.html
https://www.geekcert.com/200-901.html


https://www.geekcert.com/200-901.html
2024 Latest geekcert 200-901 PDF and VCE dumps Download

C. print(items[\\'items\\'][\\'page_id\\'].keys()) 

D. print(items[\\'items\\'][\\'page_id\\']) 

Correct Answer: A 

 

QUESTION 3

DRAG DROP

Refer to the exhibit.

Drag and drop the code from the bottom onto the box where the code is missing in the Cisco Meraki code to obtain the
connectivity testing destinations for an MX network. Not all options are used.

Select and Place:
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Correct Answer:
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QUESTION 4

A developer prepares an API to be used by administrators. API requires username and password to be verified for
validated access to data, however username-password combination of users must not be sent to the API service itself.
Authentication and authorization will be provided over the same mechanism. Which authentication mechanism must be
used by the API service? 

A. OAuth Authentication 

B. Digest Access Authentication 

C. Basic Authentication 

D. API Key Authentication 

Correct Answer: A 

 

 

QUESTION 5

Refer to the exhibit. 
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An engineer develops an Ansible playbook to perform tasks that automate the provisioning of a server. What occurs on
the server after the playbook is run? 

A. The Vim, Git, and Pip packages are removed. 

B. The Vim, Git, and Pip packages are backed up. 

C. Only the Vim package is installed as the most recent package. 

D. The most relevant versions of the Vim, Git, and Pip packages are installed. 

Correct Answer: D 
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